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QUESTION 1

What are the four BOST Enterprise Architecture Framework views?
A. Business. Operations, Security, and Tactics

B. Business. Operations, Security, and Technology

C. Business, Operations, Systems, and Technology

D. Business, Operations, Sales, and Talent

Correct Answer: C

QUESTION 2

Which two solutions does Cisco offer for after an attack?

A. email and web security solutions

B. networks access control and identity services

C. firewalls and next generation firewalls

D. advanced malware protection and network behaviour analysis

Correct Answer: D

After an attack, organizations can leverage Cisco Advanced Malware Protection and network behavior

analysis to quickly and effectively scope, contain, and remediate an attack to minimize damage.

QUESTION 3

A variety of factors drive the target state of the business. Which of the following is not a factor?
A. Values

B. Mission

C. Vision

D. Client engagement

Correct Answer: D

QUESTION 4

Which of the following describes the benefits of Cisco intelligent automation for cloud software?
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A. It defines the deployment and management requirements of an entire application stack.

B. It automates sophisticated data center and standard business processes from a single, self-service portal.

C. It builds a robust security architecture while significantly reducing WAN costs and time to deploy new services.
D. It includes Wireless LAN, Security/SD-WAN, Switching, Mobility Management, and Insight.

Correct Answer: B

QUESTION 5

Which of following Cisco cloud-managed solution allows customers to unify management in a secure, browser-based
dashboard?

A. Cisco Meraki

B. Cisco UCS

C. Cisco Intersight
D. Cisco Hyperflex

Correct Answer: A

QUESTION 6

In addressing the full attack continuum, what type of capabilities are required before an attack?
A. Preventive and Response

B. Preventive and Detective

C. Predictive and Response

D. Preventive and Predictive

Correct Answer: D

https://www.ironshare.co.uk/technical/ciscos-attack-continuum/

QUESTION 7
What is the Cisco TelePresence 1X52007?
A. a flexible videoconferencing solution designed for small huddle spaces

B. an advanced all-in-one desktop collaboration solution featuring high-definition video
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C. an intelligent dual-camera speaker tracking solution with two LED screens
D. a state-of-the-art triple screen solution featuring a dual row of seats for up to 18 people

Correct Answer: D

QUESTION 8

In terms of Cisco\\'s business outcome sales roles, there are many variations in the teams that engage with customers.
Which of the following is not one of these teams?

A. Services team
B. Account team

C. Team leadership
D. Marketing team

Correct Answer: D

QUESTION 9

Which Cisco technology uses software-defined segmentation to simplify the provisioning of network access, accelerate
security operations, and consistently enforce policy on the network?

A. Cisco Tatos

B. Cisco TrustSec

C. Cisco Stealthwatch Engine

D. Cisco Platform Exchange Grid

Correct Answer: B

QUESTION 10

Cisco has endpoints that are designed to improve collaboration and address the widest range of use cases. Which of
the following is not an endpoint?

A. Phones and Desktop endpoints
B. Video End Point Applications
C. Room and Immersive Systems
D. Mobile End Point Applications

Correct Answer: B
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QUESTION 11

Cisco TrustSec technology uses software-defined segmentation to simplify the provisioning of network access,
accelerate security operations, and consistently enforce policy anywhere in the network. Which of the following is not a
feature and benefit?

A. Apply policies across the network

B. Increased risks

C. Lower operational expenses

D. Streamline compliance

Correct Answer: B

https://www.cisco.com/c/en/us/solutions/collateral/enterprise-networks/trustsec/solution-overview-c22737173.html

QUESTION 12

Which of the following are included in Cisco\\'s current networking product lines?
A. switches, routers, application delivery controllers, LAN, and WAN

B. switches, routers, and application delivery controllers

C. application delivery controllers, LAN, and WAN

D. switches, routers, LAN, and WAN

Correct Answer: D

QUESTION 13
Which of these is one-step Cisco is aiming to take to reduce the company\\'s environmental impact by the year 20227
A. Cisco is aiming to run at least 35 percent of its global operations exclusively on solar power.

B. Cisco is aiming to use electricity generated from renewable sources for at least 85 percent of the company\\'s global
electricity needs

C. Cisco is improving product power consumption and aiming to increase system efficiency to 99 percent
D. Cisco is aiming to reduce greenhouse gas emissions by 15 percent from its global operations

Correct Answer: B

QUESTION 14
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A business capability consists of which of the following to enable the long-term strategy of the business?
A. Security, enablement, experience

B. Technology, expertise, process

C. People, tools, experience

D. People, process and technology

Correct Answer: D

QUESTION 15

Cisco Unified Data Center offers some benefits to customers. Which is not a benefit?
A. Gain control over increasing complexity

B. Sophisticated capabilities made simple

C. Deliver more value, faster to all lines of business

D. State of the art infrastructure

Correct Answer: D
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